
 
Exhaust Hardware Kit; 2002-2007 Subaru WRX/STi; 2004-2008 Forester 

XT (WS-HARDWARE)  
Packing List 

 

 
 

# Part Description Quantity 

1 G762H Gasket; 76mm ID; 2 Holes 1 

2 G764H Gasket; 76mm ID; 4 Holes 1 

3 GD76 Gasket; Donut; 76mm ID 1 

4 GS64SS Gasket; 64mm ID; Stainless Steel 1 

5 BFTM104015ZP Bolt; Fully Threaded; M10 x 40 mm length; 1.5 Thread 

Pitch; Zinc Plated Steel 

4 

6 NUTM1015ZP Nut; M10 x 1.5mm Thread Pitch; Zinc Plated Steel 4 

7 SWM10ZP Spring Washer; M10; Zinc Plated Steel 4 

8 BFTM880125ZP Bolt; Fully Threaded; M8 x 80 mm length; 1.25 Thread 

Pitch; Zinc Plated Steel 

2 

9 NUTM8125ZP Nut; M8 x 1.25mm Thread Pitch; Zinc Plated Steel 2 

10 FWM8ZP Flat Washer; M8; Zinc Plated Steel 2 

11 BFTM1025125ZP Bolt; Fully Threaded; M10 x 25 mm length; 1.25 Thread 

Pitch; Zinc Plated Steel 

2 

 


